
Back Cane Hardware w/o Back Brace
Adj. Height, Zero and Seven Degree



Back Cane Hardware w/o Back Brace
Adj. Height, Zero and Seven Degree

Item
Number Part Number DescriptionNote

Quantity Per
Package Assembly

1169045-NLA NLA - Hardware, Adjustable Height Cane w/o
Backbrace

1 11 A
Bracket, Cane, Rear 1 22
Grip, Hand, Foam (4") 1 23
Insert, Backbrace 1 24
Screw, Socket Button Head (M6 x 53mm) 1 25
NLA - Screw, Socket Button Head (M6 x 40mm) 1 26
Screw, Cap, Socket Head (M6 x 35mm) 1 27
Screw, Phillips Pan Head (M4.8 X 16mm) 1 28
NLA - Locknut (M6 x 1) 1 69
Screw, Socket Head Cap (M6 x 1 x 30) 1 210
Panel Fastener, Snap In 1 211

1423410 Bracket, Cane, Rear 1 22
1167666 Grip, Hand, Foam (4") 1 23

A - Includes items 2 - 11. NOTE:
 


